
 
Pary transformat DTFT 

 

Sygnał 𝑥(𝑛) Widmo 𝑋(𝑒𝑗𝛺) 

𝛿(𝑛) 1 

𝛿(𝑛 − 𝑛0) 𝑒−𝑗𝛺𝑛0 

𝛱𝑁(𝑛) = {
1,   |𝑛| ≤ 𝑁
0,   |𝑛| > 𝑁

 
sin[𝛺(𝑁 + 1

2
)]

sin (
𝛺
2)

 

sin(𝛺0𝑛)

𝜋𝑛
,  |𝛺0| < 𝜋 {

1,           |𝛺| ≤ 𝛺0

0,          𝛺0 < |𝛺| ≤ 𝜋
 

𝟏(𝑛) − 𝟏(𝑛 − 𝑁 − 1) 𝑒−𝑗
𝛺𝑁
2

sin [
𝛺
2
(𝑁 + 1)]

sin (
𝛺
2)

 

𝑎𝑛 ∙ 𝟏(𝑛), |𝑎| < 1 
1

1 − 𝑎𝑒−𝑗𝛺
 

(𝑛 + 1)𝑎𝑛 ∙ 𝟏(𝑛), |𝑎| < 1 
1

(1 − 𝑎𝑒−𝑗𝛺)2
 

𝑎|𝑛|, |𝑎| < 1 
1 − 𝑎2

1 − 2𝑎 cos𝛺 + 𝑎2
 

𝑎𝑛 cos(𝛺0𝑛) ∙ 𝟏(𝑛),  |𝛺0| < 𝜋 
1

2
(

1

1 − 𝑎𝑒−𝑗(𝛺−𝛺0)
+

1

1 − 𝑎𝑒−𝑗(𝛺+𝛺0)
) 

𝑎𝑛
sin[𝛺0(𝑛+1)]

sin𝛺0
∙ 𝟏(𝑛), |𝑎| < 1,  |𝛺0| < 𝜋 

1

1 − 2𝑎 cos𝛺0𝑒−𝑗𝛺 + 𝑎2𝑒−𝑗2𝛺
 

1 2𝜋𝛿(𝛺) 

𝑒𝑗𝛺0𝑛,  |𝛺0| < 𝜋 2𝜋𝛿(𝛺 − 𝛺0) 

cos(𝛺0𝑛) ,  |𝛺0| < 𝜋 𝜋𝛿(𝛺 − 𝛺0)+𝜋𝛿(𝛺 + 𝛺0) 

sin(𝛺0𝑛) ,  |𝛺0| < 𝜋 -j𝜋𝛿(𝛺 − 𝛺0)+j𝜋𝛿(𝛺 + 𝛺0) 

𝟏(𝑛) 
1

1 − 𝑒−𝑗𝛺
+ 𝜋𝛿(𝛺) 

 


